AR T R R e i xR R N ey e g 2 oeps 2 - g ﬁ P e i
- - - SN (P OV

~ SRt D S e
2011 Code : KNM
9% 4 2e ¥ TTYREHl HH O o T e B
I BOOKLET No.
TRUT 994 : 200
¥ : 2 (IF) A | &Hal Ao T T - 200
Ll

(1) TR RAPEHT 200 fad 79 3Rd. IHCAR WYl SW fafgvar gee awoargdl o
TEAYfeAhd ¥ SY SR fehel ARIG A< @Hl F A, 37T a9 3T W AN e

YT FHAEHIRE T age ST, S
(2) ST9eT GAT-HHiE & R X @az_gﬁ
7 fawar |ieroa fosm. I dhamR

(3) T BT SRR FHoieh THeAT ITUFRaR ATy it Sufhadiet Gammwmamt 7 faasar g wma.
(4) (3) T Tgfahdd &% T 4 @ S gEfae @ 1, 2, 3 3T 4 39 wHIG
fetel e, wwmﬁaﬁwﬁﬁwmmmﬁ?ﬁéﬁﬁamwmﬁw
T HUAT. I FER IAWAKX IAGHAIR T HAHT af Hafdd TTThAHHER  Sraifhd
e UG SR Irdl HIgs =G, PNehiaT e Hiedl YIEY Sielid aina, afue
a vEe U9 9w A
(F) ImErT w7 fararardt Wikt stET sas wreaw fafga shered SR, T fawamn wew a9
TS sET SUSH WG 3WE BUUAE SNl 3R, WEd SUSidiel fhal IUdidie
WWN@WWWWWWW,W
Yefea w97 ygidl wider Seeht |rgd
(5) Hd SR M T 3. areaaﬂa‘nwzﬁsﬂimﬁa UIEYS g BV ARG A Q& U
Yo faaean AT 99 iegEd. HH Y9 Gisfaul SEER 3R YU UGl WY Holul dieedrd
WET A% 7 grefadl gEid TPeS ge1d. o791 YHR Vaceal NIAIHd UEreedHa de feieed
Tfeeard H3M0T BUH aTSAT TAhS Tavl HiEe 33 .
(6) mﬁiﬁﬁmwﬁﬁm@wwm TR Fod I g AN T g™ ¢ qura
S
(7) WA WIEreaT IUTARART eaiend HIAMT SHEARTeAT IaaAehdter arg Ieira ot feer smdter,
aﬁa“@wﬁwﬁswﬁmmmﬁmwﬁﬁﬁmmm
AT SANUMAhd TSfaeied Ul U gahiedl SRS UahT Hg-Te 0T TSl &Hivdrd adiel ',

r_@ At ]

WIS EEt mErTR fafgd shetenl d@ Wuwdd § WYYRAST ATENTR Wer T At
T eT SHEaRTen UHEuEt auuarg udi A9 3R, ¥ 9@ Wuudd Wex WAyt
wa/well, fhar Wex WygRakdic ®IEl SNYE RV WEAd TS a1 AAIHUU SV
e qRfaul, a8e ieg HTO §1 T A AV Fal UM TR FEEE SR Feredr
“rigme g TRuERT wfaey wtvaTsTede SiuEH-82"! aTiel ageuR awd yate
FHTIEAT TSN HRATE HIVAW 9361 9 SNt et HATA T aureal sRiararen oy fean
TUA Tk g9 {1 SSAT {18 a= giget.

TS T wyAubIh et fafgq Sherelt d@ wuveenet € IyYiEe! FAIAHAU0 S@T 7T FE
1 3gA T SISl AN SHuRigeis], a8 dden vHgaagee et
Hﬁﬁmwﬁﬁmmmmmﬁaaaﬁmﬁaﬁm%

uﬁaaﬁwgﬁ%ﬁm%ﬁﬁmﬁ




KNM

2

A1 SIS ST / SPACE FOR ROUGH WORK



A - 3 . KNM

1. 1857 =7 IJEM dlchicleh HNTT &id
(1) TEH T gHE TR Aol e 3T
(2) IS TN WA w0
(3) foveq gdwgrR &
(4) TSI, gaq 3T I € Ho

The immediate cause of the Revolt of 1857 was.

(1) Use of cartridges greased with cow fat and pig fat
(2) Annexation of several states

(3) The spread of Christianity

(4) Abolition of titles, vatans and pensions

2. TR Horen NON IR TPT SIS @ e ?

(1) TR A (2) AYEE oI

(3) W T3l W (4) < feew

Who, from the following, was inspired to found the Indian National Congress ?
(1) Dadabhai Naoroji (2) Vyomeshchandra Banerjee

(3) Sir A.O. Hume (4) Lokmanya Tilak

3. O AY “od Afeen WHNTER SO HIOR kel ?

(1) wfEeER Bo (2) ufear W@

(3) 3Gl wd (4) 3AE ™

Who founded “Arya Mahila Samaj” in Pune ?

(1) Savitribai Phule (2) Pandita Ramabai
(3) Iravati Karve (4) Anutai Wagh

4. FOTEAT IOH 1947 7 feam AvAE 3% IR FANT W SUIE e 7
(1) dfed Tew @) €. TR W6
(3) @R e (4) TS Je

Who was the source of inspiration to found the “Indian National Trade Union
Congress” in 1947 ?

(1) Pandit Nehru (2) Dr. Rajendra Prasad
(3) Sardar Patel (4) Gulzarilal Nanda
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5. “faurdls TR SR @Al Fvwer auf el ?
(1) 1957 (2) 1958 (3) 1956 : 4) 1959

In which year was the “University Grants Commission” established ?

(1) 1957 (2) 1958 (3) 1956 (4) 1959

6. “TuEd W & MM % fog fowm” € dem Folt wwT Fer ?
(1) fag. FEEx o aFa st
(2) GTEST TMhSR AT A AThahL
(3) 3 HR T ATBFIT e
(4) <HE AThRT A FSFIT AT
Who established the “Society for the Protection of Hindu Legion” ?
(1) V.D. Savarkar and Anant Kanhere
(2) Vasudeo Chafekar and Damodar Chafekar
(3) Anant Kanhere and Balkrishna Chafekar
(4) Damodar Chafekar and Balkrishna Chafekar

7. “YURE’ ¥ IO ST GE o 2

(1) S R esH (2) U@ ORI SRE

3) A fEww ' (4) faoRmel fauguE

Who started the newspaper “Sudharak” ?

(1) Dr. Babasaheb Ambedkar (2) Gopal Ganesh Agarkar
(3) Lokmanya Tilak (4) Vishnushastri Chiplunkar

8. “HE uH §wr’ a1 Gl g Soh dhell ?

(1) Wee Sarden el (2) O aged S

(3) T TEHAS (4) TR T qESH

“Manav Dharma Sabha” institution was established by

(1) Mahatma Jyotiba Phule (2) Ganesh Vasudeo Joshi

(3) Baba Padmanji (4) Dadoba Pandurang Tarkhadkar

el HENTS! S / SPACE FOR ROUGH WORK



A | 5 KNM

9. E 1927 =1 9 Hee AR FaeR ddel U T Sl ?

(1) g e 2) aIm iR

(3) =LE. T (4) Ef. #AR. IR
Who launched Satyagraha of the ‘Cavdar Tale’ at Mahad in 1927 ?
(1) Mahatma Gandhi (2) V.R. Shinde

(3) V.D. Savarkar (4) Dr. B.R. Ambedkar

10. ‘U WRY' 3 WEE HON gE Hd 2

Q) TH. =9 2) WEeT Gt

(3) ®. YR RS (4) Hier HyE &

Who started the periodical “Samaj Swasthya” ?

(1) R.D. Karve (2) Mahatma Phule

(3) Chha. Shahu Maharaj (4) Dhondo Keshav Karve
11, ‘foiRe sy fgymet e pisifco

1) foga st iR (2) . TEHRY IeEHt

(3) wgul g FvE & (4) vEET SEfe g

‘Depressed Classes Mission’ was founded by .

(1) Vitthal Ramaji Shinde (2) Dr. Babasaheb Ambedkar

(3) Maharshi Dhondo Keshav Karve  (4) Mahatma Jyotiba Phule

12. WER G A geX HEwEen TSl WEA TR UATEIE FEAS FSET g,
(1) 3= fomgor
(2) WHa N7 TR wrafie fam
(3) e fammor
(4) =t oy

Mahatma Phule recommended to the Hunter Commission that State should give the
priority to .

(1) Higher Education

(2) Free and Compulsory Primary Education

(3) Adult Education

(4) Female Education
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13. QIR GEIY YRAET SE S @l

(1) 9rar (2) d9ardl (3) 9idar (4) 334l

India has rank in the world as per the area.

(1) Fifth (2) Sixth (3) Seventh (4) Eighth
14, v 5o I R STl S,

(1) S Foar (2) 3ufved

(3) e (4) 3Tchell

Mountain soil is known as .

(1) Black cotton soil (2) Unmatured soil

(3) Peat soil (4) Alkali soil
15. MENPM 896N Faq der {Seat R,

L ™ (2) SEHETR (3) AR (4) oIS

district of Maharashtra is largest according to the area.

(1) Pune (2) Ahmednagar (3) Nagpur (4) Yavatmal
16. NEERE HH e fSegam a@een IR,

(1) TSfRe (2) ¥SM (3) IFHTEA! (4) IqATIS

‘Project Tiger’ at Melghat is located in district.

(1) Gadchiroli (2) Bhandara (3) Amravati (4) Yavatmal
17. & AHS T AW B TSt arwe s 2

(1) ®ed (2) 9m (3) TS (4) s

Which wood is mostly utilized for furniture ?

(1) Sandal (2) Teak (3) Banyan (4) Mango
18. 77 fammlt S T FOT Y AT e,

(1) 9ar (2)
(3) =TS (4)
The river Koyna joins the river Krishna at

(1) Satara (2)
(3) Karad (4)

HITE
HEERYaT

Kolhapur
Mahabaleshwar
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TS B R AR Sfau Age 9fadel Seer Tt ?
(1) s FuA g (2) Ufsd AR AEE
(3) UA. UM ST (4) & . Gam

Which among the following persons was not a member of the Drafting Committee of
the Indian Constitution ?

(1) Dr. KM. Munshi (2) Pandit Jawaharlal Nehru
(3) N. Gopalaswami Ayyangar (4) Mr. D.P. Khaitan

20.

(1) 1946 =1 Hfae fvH As<d

(2) 1947 AT R WA=l e

(3) TN WER=A IR

(4) RArEA TEE S g/

The Constitution of India was enacted by a Constituent Assembly set up
(1) under the Cabinet Mission Plan, 1946

(2) under the Indian Independence Act, 1947

(3) under the resolution of the Provisional Government

(4) Dby the Indian National Congress

21.

HaE 39 AR Afas WeWd 3 Ied 2

(1) e, FIER d el (2) 0, TS q STRE

(3) AR, RTER g qush (4) FiCE, 43 9 ¥5Q

Where are the Judicial benches of Mumbai High Court situated ?

(1) Beed, Kolhapur and Akola (2) Pune, Nashik and Amaravati

(3) Nagpur, Aurangabad and Panaji (4) Nanded, Dhule and Chandrapur

22,

TR faue uReest 9e® €& (strength) foet oM@ ?

(1) 72 (2) 36 (3) 90 (4) 78
How much is the strength of the Legislative Council of Maharashtra ?
(1) 72 (2) 36 3) 90 (4) 78
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23.

Qe aEiar faeur &0

I 9RAE TSAUeA9R 9RAred] TPUaiT SEveel HecdiaRd SRUR HTal «rrd,
I TP & Hedrl [AeeR RNl JRl dHisaee Ueq  Wiedld W
(1) I9 II Q8 SR 3R (2) IR 9 11 9% 3T’

(3) IR T 1Y% 3R 4) 19 I3 I% I

Consider the following :

I.  The President according to Indian Constitution shall act in accordance with the
advice given by the Council of Ministers.

II. The President may require the Council of Ministers to reconsider such advice,
but that advice is not binding on the President.

(1) I and II both are correct (2) 1Iis correct and II is incorrect

(3) 1II is correct and I is incorrect (4) I and II both are incorrect

24.

TERIETEAT faurafed g fdt aaee emed 2

(1) 19 (2) 48

3) 78 (4) IS Foragr A&

How many members are there in Maharashtra Vidhan Parishad at present ?
(1) 19 (2) 48

3) 78 (4) None of these

25.

o Wi RIS g 9 |f9d ®OH H07 1 a2

(1) faER i (2) THETH

(3) GwIwd (4) e fome st

Who works as a Chief Administrative Officer and Secretary of the Panchayat Samiti ?
(1) Extension Officer (2) Gramsevak

(3) Sabhapati (4) Block Development Officer

26.

TENIETIT HePRYIeised] FeTdRiel siead! Weferda! Horr ?

1) T & (2) EH 3) = ¥ (4) Hed Ay
Which one of the following durations is the tenure of the Mayor of Municipal
Corporation in Maharashtra ? ‘
(1) 1year (2) 2-5 years (3) 5 years (4) 3-5 years
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U Wi Uit TR A BT a2

(1) e fowm sty (2) vEEd Wil |l

(3) UEEd WA SU-wIHd CABEEJIEE ]

Who performs the administrative leadership at Panchayat Samiti level ?

(1) Block Development Officer (2) President of Panchayat Samiti
(3) Vice-President of Panchayat Samiti (4) District Collector

28.

TR U fafaw anfa A feam fadl Sg@ 90 duaene 3R ?
(1) 4 (2) 5 3) 6 (4) 2

Minimum how many meetings of Gram Sabha must be held in a Financial Year in
Maharashtra ?

(1) 4 (2) 5 (3) 6 (4) 2

29.

TNy Negr afwee |fag Hior s ?

1) e iece ger FEad suwrt

@) feg o Suye srled st

(3) TR SHGEH WA J&F SN I
4) facfaed

Who is the Secretary of Zilla Parishad in Maharashtra ?
(1) Chief Executive Officer of Zilla Parishad

(2) Deputy Chief Executive Officer of Zilla Parishad

(3) Chief Executive Engineer of PWD

(4) District Collector

30.

reddt HId faum ameder avg ed Tt ?

(1) TER ¥ We AR AFEY 6w T

(2) FHHUTAT IS AR WA .

(3) W=l AU STERYT STedered uferdrd.

(4) UG g TGS SURAAT WH JaF AHGHS ST S,

Which of the following sentences is not applicable to Gram Sabha ?

(1) Gram Sabha is constituted of all adult members of the village.

(2) Sarpanch chairs the meeting of the Gram Sabha.

(3) In the absence of Sarpanch, Deputy Sarpanch chairs the meeting of the Gram
Sabha.

(4) In the absence of both Sarpanch and Deputy Sarpanch, the Gram Sabha
meeting is chaired by the Gram Sevak.
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31. Wreidis S feeaml sEdgwar s 3R ?

1) = (2) igéz

(3) WEHW /W 4) HUE AR
Which one of the following lamps has maximum efficiency ?

(1) Bulb (2) Tubelight

(3) Sodium Vapour Lamp (4) None of these

32. 9% RydiNE® FEaFT Hiel foudl. 9= #RU wUN

(1) gEw (2) STAERONY 3T9a

3) R fafeR (4) YHITS STTEHTT

When the Moon is near the horizon, it appears big. This is due to
(1) Optical illusion (2) Atmospheric refraction
(3) Scattering of light (4) Dispersion of light

33. WUIAT QAR e T

(1) difeaq TEFEHT (2) Afeqq FEM

(3) HoAIEH FEME (4) FATET TS
Baking Soda is known as

(1) Sodium bicarbonate (2) Sodium carbonate
(3) Calcium carbonate (4) Calcium chloride

34, Teh SGEE FA W AR Fo T T e e wAR 2
(1) @&9E 39 (2) o1 3
(3) SEW I (4) AR RS A

One of the earliest industries which in the first industrial revolution relocated from
India to Great Britain is

(1) Textile (2) Metallurgical

(3) Shipping (4) None of these

35. 9RA TWHRA THE 1999 WL ‘Tt SHNT Al HIvTA I Iaafae ?

(1) TEEAS aRIH 2 fawit e g
(3) g 3T FoAd faE (4) AR 339 fasmEe!

For what purpose did the Indian Government introduce in April 1999 the ‘Open
Sky Policy’ ?
(1) Cargo transport (2) Bilateral Air Service

(3) Aircraft development (4) Development of air-worthiness

o] SRS ST / SPACE FOR ROUGH WORK
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o T SRS AT S RefRT A6t i e s e e

36.
A ?
(1) qﬁ-ﬁa:rq235 (2) ;ﬁ-ﬁa-{q-238 *(3) gh-a-a;rq-232 (4) ma;rq-226
To solve the problem of electricity, nuclear process occurs in nuclear power reactor by
fission of which material ?
1) U235 (2) U238 (3) Th232 4) Ra226
37. el oA :
a. 39 1. AP RIC
b, MR er=THa i,  S9 dEE
c. SRy A iii, | TAIH
d. wEufdd @eW faawr g iv. HOROT dAE
(1) a-iv, b-iii, c-ii, d-i : (2) a-ii, b-iv, c-i, d-ii
(3) a-i, b-iv, c-iii, d-ii (4) a-ii, b-i, c-iv, d-iii
Match the pairs :
a. E-mail i.  Materials Technology
b.  Virtual classroom ii.  Biotechnology
c.  Genetic Engineering iii. Computer Technology
d. ATM iv. Communication Technology
(1) a-iv, b-iii, c-ii, d-i (2) a-iii, b-iv, c-i, d-ii
(3) a-i, b-iv, c-iii, d-ii (4) a-ii, b-i, c-iv, d-iii
38. TN 13 TR B
(1) SR IO § FHRme 37add (2) YT TEA
(3) YR 37qac 4) YR feda
Mirage is formed due to .
(1) Terrestrial heating and refraction of light (2) Reflection of light
(3) Refraction of light (4) Diffraction of light
39. IYfw Tl w7 Radfay ERia Mefe sEeEd T8

(v fafa gamiie demem

(2) THE gARie Hened

(3) wWfEaa I+

(4) IR oG T

Modern technological development is increasingly becoming dependent on
(1) Research inputs from large number of disciplines

(2) Research inputs from single discipline

(3) Ancient knowledge

(4) None of these

o1 SHNTS! ST / SPACE FOR ROUGH WORK
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40. WG AT WA FeAmEE €8 HH gl
(1) AHIA AHES .
(2) R T 9 WRes o
(3) HH ToireAT Heryd W gfaer
(4) ITIH HORE TR
The gap between developed countries and India is reduced by
(1) Unskilled manpower
(2) Tremendous manpower and institutional resources
(3) Poor infrastructure
(4) None of these
41, TEd T YEvAEA FHOIHER ARG UHUAl ghar,  UEvard faere | g e
R ?
(1) 110dB (2) 85dB 3) 95dB (4) 100dB
From the following, state the value of loudness, where a person can tolerate the
exposure without any damage to hearing.
(1) 110dB (2) 85dB (3) 95dB (4) 100 dB
42, &-fH0 I FHTE IOUR ISR FE UROTH B ?
(1) T e (2) SR §HaT HA B
(3) 3R wHEE gat 4) THRTS gEed Ad
Out of the following, which is the effect of a lethal dose exposure of X-rays to the
body ?
(1) Anaemia (2) Reduced fertility
(3) Internal haemorrhage (4) Mental retardation
43. U SeWidid HIvd faEe SR et ?

(1) o1 gaes 3TEaw.
(2) HTET TN FhGT .

(3) o aHT & e Edw.

4) Ry fagg-des @Rl Yada .

Which statement regarding metals is not correct ?
(1) Metals are good conductors.

(2) Metals have shining surface.

(3) Metals are malleable and ductile.

(4) Metals transmit electromagnetic waves.
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e HET ST Yo ATl I§EN IR 2
(1) A= (2) WIUEy (3) HaFT aArg (4) T

Earth is warm due to the presence of the following.
(1) Ozone (2) Oxygen (3) Carbon dioxide (4) Air

45.

YATeRUT g FUA YA FHIT B

(1) gt Aufie SgueT wieT et S SR

(2) YT JufiE TgHUT INET eFUET ST 3T

(3) gt Gl YgUUT YU &Hd T

(4) IS B TR

We are polluting the environment at a rate

(1) less than the Earth’s natural ability to absorb pollution

(2) greater than the Earth’s natural ability to absorb pollution
(3) equal to the Earth’s natural ability to absorb pollution

(4) None of these

46.

T farie e SUSTR WITammie & RO Ut

(1) dife e SvamEed ST e

(2) difs fewor 9o .

(3) ed! § UegwR fimyor

(@) IIFE FOE AR

Students from rural areas are unable to secure employment because
(1) of lack of awareness towards technical education

(2) they get technical education

(3) they attend graduation and post-graduation courses

(4) None of these

47.

foot st AR i SwaEde U T suETEE $ER Weldel 1 qER ST
forpeiar e 2

(1) TEa e RTERT

(2) Tosa Ry

(3) T WIERM g0 95 Fad Fe Siet Ruaey

4) 9Afem auria Rugex

Which of the following has been developed and designed by ‘Indira Gandhi Centre for
Atomic Research (IGCAR) to meet the growing demand for electricity ?

(1) Pressurised heavy water reactor

(2) Heavy water reactor

(3) Liquid sodium cooled fast breeder reactor

(4) Thorium based reactor

AT PN 3 / SPACE FOR ROUGH WORK
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48. oy Sy ol MY 92 9UET 9ed 1932 Wl S ufeen AW W AR
e T ?
(1) fraii= (2) A
(3) Mgl WA @) FNSHART
With modern ‘Engineering and Technology’, which is the first synthetic rubber
synthesized in U.S.A. in 1932 ?
(1) Neoprene (2) Buna rubber
(3) Gutta percha (4) Caoutchouc
49. FAE M JREY FAT 9 Y TS AR ?
1 feu (2) THEE
(3) whT & (4) B A
Which allotrope of carbon is used for cutting and drilling ?
(1) Diamond (2) Graphite
(3) Activated carbon (4) Carbon black
50. WTieids! Howed UMY AHiH0T STo=d 778t ?
(1) &= (2) famm =R
(3) feaam (4) IPAR-o
Vaccination is available against all of the following diseases except
(1) Tuberculosis (2) Typhoid fever
(3) Malaria (4) Hepatitis-B
51. TIWH UFArdl SMER HIUET I8 ?
@€ 2 (2) 16 (3) 10 (4) 8
What is the base of decimal system ?
1) 2 (2) 16 (3) 10 (4) 8 s,
52. AR ANl I R g A sl S dRdm v R oty fadfa

EXGIGECIR ;

(1) (2) R TR AT

(3) wiagdr fmfor o (4) S aaqor

Surgeons perform delicate operations by manipulating devices through computers
instead of manually. This technology is known as

(1) Robotics (2) Computer forensics
(3) Simulation (4) Forecasting

ol DTS S / SPACE FOR ROUGH WORK
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53. QAT fAHER YHIT HE IR 2
(1) (2) VT
(3) iefire faem (4) USPIR o
What is the measure of progress of a country ?
(1) Urbanization (2) Educational development
(3) Industrial development (4) Employment development
54. foemg =1ftn Y& ga1 [ A0 STENTG AU KON TWEA IAEROTAE SEA o
AR SEEER 3T ?
@) frsia (2) FIGREIEEA
(3) FARITIHEA (4) TR IENFES (SO,)
Which chemical used in refrigeration and air-conditioning system is responsible for
destruction of ozone layer in the atmosphere ?
(1) Freon (2) Hydrofluorocarbon
(3) Chlorofluorocarbon -(4)  Sulphur dioxide (SO,)
55. ‘SfegEa @ IERAN Hvrn fA T v A ?
(1) focgat fm (2) 3fdafer fim
(3) afegter fim 4) femfas fm
Which one of the following lenses should be used to correct the defect of
‘astigmatism’ ?
(1) Cylindrical lens (2) Concave lens
(3) Convex lens (4) Bifocal lens
56. fe=gra SEANE) FEA 9 o] HVE UEd S S ?
(1) 2grge (2) T
(3) IfeerRge (4) TTEIEE
1n the structure of diamond, carbon atoms are arranged
(1) Tetrahedrally (2) Hexagonally
(3) Octahedrally (4) Trigonally
57. WIVEME HU IOH Th OTEC WES @ S RV T W (GEE IR 2
0 (@ 2 (@& 3 (= (4) (T

A person having which of the following blood groups can receive blood of any
group ?

1 A 2 @) 3) O (4) (AB)*

BT BIETRITS! STt / SPACE FOR ROUGH WORK
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58. W (LASER) o1 Vsl §fed & @im ?
(1) e fawia aF sfaee offt fesve
2) e IFfadihey a9 ferads svH 3w YeSvH
(3) WHGR FrfahiayH 9 ferpes sfvm o HeeivH
4) TR M A A
What is meant by LASER ?
(1) Light amplification by emission of radiation
(2) Light amplification by stimulated emission of radiation
(3) Microwave amplification by stimulated emission of radiation
(4) Light emission by radiation

59. TRIH HIOTE ST B fFeria &, ¥ SARA Fd & Wbt ?

(1) LemmEE (2) TmEfEH

(3) TEEMERA 4) Frefmmafe

Vitamin B;, can be produced as a by-product of which one of the following ?
(1) Streptomycin (2) Tetramycin

(3) Trichomycin (4) Neomycin

60. WEHCTdat HIUET ITFUT WER FHIA A TR & Hal ?
(1) SR HAfera (2) TTHHHR
(3) Wl TER® 4 TALE.
Which one of the following common devices works on the basis of the principle of
mutual induction ?
(1) Tubelight (2) Transformer

(3) Photo diode (4) LED

61. T T[S
(1) | aed
2) frafa amed
(3) IIT TR
(4) T Tpmde fava aed
Due to devaluation of currency
(1) TImport increases
(2) Export increases
(3) Unemployment increases

(4) Good relationship between two nations develops

AT SRS 5IFT / SPACE FOR ROUGH WORK
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62. ST NI Had Magdd e SR oSt

(1) ffa e (2) A =916

(3) MG &< (4) frafdten smadde 9

India’s Balance of Trade is not favourable because of

(1) Increase in export (2) Increase in import

(3) Decrease in import (4) More increase in import than export
63. v adf ARar frafa SERdver S @ ?

1) 1972-73 (2) 1973-174 (3) 1969-170 (4) 1970-71

In which year was India’s export greater than import ?

(1) 1972-73 (2) 1973 -74 (3) 1969 -170 (4) 1970-171
64. M- G-I TSI HIUA GaadE AsHd gE e ?

(1) grEEr 2) fag@

(3) Wl (4) ATF BTG T

In which Five Year Plan was import-export pass-book system introduced ?

(1) Fifth ' (2) Third

(3) Seventh (4) None of these
65. 200102 T FoTaHd AT WIET IR HIU T2 ffedq gaifas e ?

(1) Wifeem fafas W 9929 (OPEC)

2) ¥ Feaw 9 faFe @9eq (OECD)

(3 T

(4) foweeia <w

Which group had largest share of India’s foreign trade during 2001 — 02 ?

(1) OPEC

(2) OECD

(3) Eastern Europe

(4) Developing countries
66. S AN HueAR YEAEH @edd HS IR ?

1 e (2) f= (3) =g A (4) - fewet

Where is the Head Office of the World Trade Organisation (WTO) out of the options
given below ?
(1) Paris (2) Geneva (3) New York (4) New Delhi

TAT BTSSR / SPACE FOR ROUGH WORK
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67. WElos ST AWM s s 7ET ?
(1) & femro 2). & 0
(3) YA TAMITRYT (4) wa frEao
Which one of the following is not a function of Commercial Banks ?
(1) Accept deposit (2) Lending loans
(3) Transfer of money (4) Credit control
68. fc Wz o% 3% 3fean weia adf swediqara avet.
(1) 1935 (2) 1949 (3) 1955 (4) 1969
The State Bank of India came into existence in the following year.
(1) 1935 (2) 1949 (3) 1955 (4) 1969
69. THT T AT F& FSUTAT Shell HUMHES TaMHl HUl dTygH 38 ?
(1) fex d@arem . (2) 3F.HIL3MELE 3.
@) f& fok 9= oife & (4) STIfa® o
Who gives permission to banks for the foreign currency business ?
(1) Finance Ministry (2) ILCIC.I.
(3) Reserve Bank of India (4) World Bank
70. 1951 — 52 A TR THIUT FeaEAd HEATHE HIEAE W dreT g,
1) 19% (2) % (3) 12% (4) 31%
Institutional sources accounted for the following share in the total rural credit in
the year 1951 — 52.
1) 19% (2) 7% 3 12% (4) 31%
71. DO GET AT qATS foRi TR 9rfaumd fReR d@ver U W @A 2

(1) 2 fo 3% e fea

(3) W % 3% fea (4 0 wd

Which of the following institutions acts as top level for fulfilment of financial needs
in rural areas ?

(1) NABARD (2) Reserve Bank of India

(3) State Bank of India (4) All of the above

oAl BHENIS! 3T / SPACE FOR ROUGH WORK
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72. IRNE RFR doh ‘SOR o AN Wreld aul gE el
(1) 1991 (2) 1969 (3) 1949 (4) 1959
The Reserve Bank of India introduced the ‘Lead Bank Scheme’ in the following year.
(1) 1991 (2) 1969 (3) 1949 (4) 1959
73. TIOCIH RO THA SN dha AW e Aee siwia Gearid N
W AR faeH Fd e ?
(1) I, &% 2) WH-AREF T
3) Ve d% 3w e (4) A 9% siw e
Which of the following public sector banks has planned to give renewed thrust to
rural housing under its ‘Gram Nivas’ scheme ?
(1) ILC.I.CI Bank (2) Co-operative Bank
(3) State Bank of India (4) Central Bank of India
74, YR GERE] TS e = IR T
(1) gt (2) IUUFI
(3) YawuH (4) wEGYE
The Contingency Fund of India is at the disposal of the following.
(1) President (2) Vice-President
(3) Prime Minister (4) Council of Ministers
75. % WH FgA U oAl Wrefierdehl Hvreal Fde arel i smoma foegar ?
(1) @S &= (2) Wl
(3) Hudl (4) fesht &
Which of the following forms of tax does the State Government get in maximum
portion from the Central Government ?
(1) Excise duty (2) Income tax
(3) Wealth tax (4) Sales tax
76. WRAWEl TENAH Gold TST WERAh ARG rddeer migen ?

(1) HeNg (2) Ufgew ST

3) @ (4) T ¥

Which one of the following State Governments in India introduced zero-base-budget
for the first time ?

(1) Maharashtra (2) West Bengal

(3) Kerala (4) Madhya Pradesh
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77. IGHE G Ul a7 Wil el ST,
(1) gl gt (2) % @ i
(3) WES(T%h IUHH Hftre (4) Hoaw9A Gftrt
Government expenditure is checked by .
(1) Estimates Committee (2) Public Audit Committee
(3) Public Programme Committee (4) Evaluation Committee

78. THfcid TV f9bE SREHA FI0 [pd el ?

(1) TST F&ER 2) foeer o

(3) HEHTR ifcTeht (4) &% TER

Who promotes Integrated Rural Development Programme ?

(1) State Government (2) Zilla Parishad

(3) Municipal Corporation (4) Central Government

79. YRG WERAT SREEHEEE [Eeis HU FuH 99 o ?
(1) R IA q TR IFESTIE TS dhel .
(2) SfenEEE fafra aufde g SN @9 d W A §qul At o T,
(3) 3fNTEE g AT ST ST .
(4) SiCNYIHMA WHLAT A guidie @9 g Wt gl Wiedr ot 3.

Which of the following statements is true for the budget of the Government of
India ?

(1) The budget is presented in the Parliament after every two years.

(2) The budget gives complete picture of the estimated receipts and expenditure of
the government.

(3) The budget is always a surplus budget.

(4) The budget gives the picture of the receipts and expenditure of the government
of the previous year.

80. TESHIG <@-Uid e IRad @i gua el F:1l9.

(1) WH (2) Tgu

(3) YWy (4) foa-At

The Public Accounts Committee submits its report to the following authority.
(1) Parliament (2) President

(3) Prime Minister (4) Finance Minister
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81, el YRAWE U UEaifis AoH gE IR 2

1 2) & (3) 3Tt (4) ST

At present which of India’s Five Year Plans is in existence ?

(1) Ninth (2) Tenth (3) Eleventh (4) Twelfth
82. YRATEAT THUT ITA Wl A JHT

(1) dred R (2) wed 3

3) FAE IR | (4) FIH FOE T

In India’s total income the proportion of agricultural income is

(1) Increasing (2) Decreasing

(3) Equal (4) None of these
83. TN Yeeiie oMl WaEET W HIOAT & ?

(1) Sefg Wit 2 afus TPl

(3) ITAN THARY (4) & gem

What was the keyword of the Fifth Five Year Plan ?

(1) Speedy progress (2) More employment

(3) Equal distribution of income (4) Removal of poverty
84. TENPT fSeg wWEte faeHl geard e aul @

(1) 1970 (2) 1954 (3) 1974 (4) 1951

District Level Planning started in Maharashtra from the following year.

(1) 1970 (2) 1954 - (3) 1974 (4) 1951
85. A Uualus ISHa gereHren faana s o & e e, o v :

(31) et 9 I e () aqRIH d TBUFBU

(F) 3 (T) HMmie qar

1) A, 49, = 2) 9, %, T 3 HA & T 4) 9, A, €

In the resource allocation of Tenth Five Year Plan high priority has been given to
three areas. These are

(a) Agriculture and Rural Development (b) Transport and Communications
(¢) Energy (d) Social Services
(1) a,b,c (2) b,cd 3) a,ecd (4) b,a,d
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86. IV FRUM fHAA areard ?
(1) Iy & (2) FT
(3) ST T FAH H (4) FATE A
By which reason do prices increase ?
(1) Indirect tax (2) Direct tax
(3) Indirect & direct tax (4) None of these
87. Wrleiia fHudady S0 T SR g7 ?
(1) T st
(2) AHEET AT
(3) SRS aTe
(4) IUTERE G AR
Which one of the following reasons does not apply to the price-rise ?
(1) Deficit financing
(2) Increase in population
(3) Increasing unemployment
(4) Increase in administrative expenditure
88, 3IfENENidl e gl SHIOT 3Fe,
1) o (2) 10 (3) 100 (4) 1000
The index number in the base year is always in the following manner.
(1) © (2) 10 (3) 100 (4) 1000
89. waae fTEfid FwamE! Hv Fd FA ?
(1) Re=E o= (2) FZ TER
(3) F HAEH (4) wEaE fEA0T Hew
Who works as a controller of prices ?
(1) Reserve Bank (2) Central Government
(3) Agricultural Ministry (4) Price Control Board
90, fhad A fRIF0T FTOr B v dualis Jem T YoEd SRR e Moo 3fEE e 2

(1) Hrae (2) 9= (3) &= (4) fgean

Which Five Year Plan for the first time had declared the objective to combat
inflationary pressure ?

(1) Seventh  (2) Ninth (3) Second (4) First

Bl NS SR / SPACE FOR ROUGH WORK
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91. Widlads FTAEAT F3a a0 W IMY WeAeha g I ol it A 3 ?
1) fas (2) fowmer (3) fawe (4) fefEea

Which of the following varieties of Gram is tolerant to wilt and suitable for late sown
condition ?

(1) Vijay (2) Vishal (3) Virat (4) Digvijay

92, 9N VWEY 9Ol Yool ST Ee wUAEdt R 39K 3ug% IR,
(1) Tt R (2) v IR (e =)
(3) TEH (4) TR

Under water stagnated water conditions in rice fields, the suitable implement for
puddling is a .
(1) M.B. Plough (2) Disc Plough

(3) Puddler (4) Trampler
93. Heuy fUsme, IEH AT HENIE SIfuE 3R,
(1) (2) SETE
(3) FoIdrN (4) vEAE!
Among the different pulses, productivity of is more in Maharashtra.
(1) Red gram (2) Black gram
(3) Horse gram (4) Field bean

94, [Ggay 3Siaw wd. [dia] a1 fUemed fodl oo doam g9or 31Ed 7

(1) 30d35% (2) 351 38% (3) 251 30% (4) 457 50%

What is the oil content in Sesamum indicum L. ? ‘

(1) 30to35% (2) 35to38% 3) 25to30% (4) 45 to 50%
95. TENY, e SurETee & gaifus TR,

(1) 9a/ (2) W (3) HATR (4) R

In Maharashtra, district has the highest area under sugarcane.

(1) Satara (2) Sangli (3) Solapur "~ (4) Kolhapur
96. @Y T AR WOl I FAH [ HEA foreien wigufa o e,

1) e ARt (2) @ fEe (3) fos wmeh (4) Wl Tl

Under late sown conditions Kharif Jowar is more infested with .

(1) Shoot fly (2) Stem borer (3) Midge fly (4) White fly

T THNIS! ST / SPACE FOR ROUGH WORK
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97. U Tl wEa™ A Weleds R 3T SRS 9ol ST S g ?
(1) =M 3T (2) e
(3) Siww =I% (4) =0
While scheduling irrigation, which instrument can be used for measuring soil moisture
content ?
(1) Neutron probe (2) Tensiometer
(3) Gypsum block (4) All above
98. T& 9 e 2R, TR RS ST
(1) 75 (2) 175 (3) 275 . (4) 375
Water requirement of Suru Sugarcane is ha. cm.
1)y 75 (2) 175 (3) 275 (4) 375
99, fowrma watfes freTe faaq &3 o,
o) T (2) IR (3) O (4) TR
division has the highest total net irrigated area.
(1) Nashik (2) Kolhapur (3) Pune (4) Nagpur
100. ¥ Teodrqd @I wroarEn faea e TSRS Fiafaar aa.
1) T8 (2) e (3) WEAT (4) SEAEL
Seepage control from farm pod can be controlled effectively by using .
(1) Sand (2) Silt (3) PMA. (4) Bentonite
101. fyr=an I aEET YT fobErarst Al : gar : gl I T 3THT.
(1) 50:25:25 (2) 40:20:40
(3) 30:30:40 (4) 30:40:30
For better growth and development of a crop the proportion of soil : air : water should
be .
(1) 50:25:25 (2) 40:20:40
(3) 30:30:40 (4) 30:40:30
102. TERE 9 g e A (1999) T HHIe fa= & arg 8. Sfaelel
3R,
(1) 100 (2) 175 (3) 105 (4) 126
The Maharashtra Irrigation and Water Commission (1999) has estimated irrigation
potential of the State upto lakh ha.
(1) 100 (2) 75 (3) 105 (4) 126
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103. IS AR SV Sq IHE AR ?

KNM

(4) 3mu

(1) AR (2) WA (3) =% oM
Which breed of Goat is famous for meat purpose ?
(1) Jamnapari (2) Saanen (3) Black Bengal (4) Angora
104. T U U1 fEes gl
(1) fawifEr () JR= , (3) e (4) FH
is responsible for yellow colour of milk.
(1) Riboflavin (2) Lactose (3) Niacin (4) Carotene
105. T3 foatea SRS TS TR W I S w3
1 1 2 2 3) 3 (4) 5
For production of frozen semen, there are laboratories in the State under
A.l. programme.
1 1 (2) 2 3) 3 (4) 5
106, I U () HEThUarEl YR Gagemed Hald S T AR
1 g 2 &
(3) WX (32 W) (4) IR
The high degree of salt tolerance is observed in fruit tree.
(1) Sapota (2) Guava
(3) Date palm (4) Ber
107. 7 G Sareme T s AR,
(1) 3T (2) R (3) =™ 4) faawe
is the richest source of vitamin ‘C’.
(1) Aonla (2) Ber (3) Grape (4) Custard apple

108. for Fid=an (FT THAET) IteIren fae | |

(1) Ty (2) AT (3) &y
Name the mango variety which does not have seed/stone.
(1) Rajapuri (2) Mankur (3) Sindhu

(4) Yo

(4) Ratna

Pl HHMIS! SR / SPACE FOR ROUGH WORK
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109. GElieds HIvTe Saer siar g 9 R ?

(1) HHH (FTFH) 2 T
(3) gl @) frem
Which of the following varieties of mango is suitable for export ?
(1) Alphonso (2) Payari
(3) Totapuri {4) Neelam
110. TERIYT HHINSE 1G0T et gE 3
(1) 1981 (2) 1982 (3) 1983 (4) 1984
In Maharashtra, Social Forestry was started in the year .
(1) 1981 (2) 1982 (3) 1983 (4) 1984
111, TeNY T a7 3@aTd 2003 TR TSRS THOT S8 AT THUT e
TFh IR,
(1) 15 (2) 16 3) 17 (4) 08

As per Maharastra State Forest Report 2003, the total forest area of the State is
% of the country’s total forest area.
(1) 15 (2) 16 3 17 (4) 08

112, JEITdT HUT IS SISO 92 A7ET 2
1) wH BRE @) fag gfe
(3) R 4) V=T deF
Which of the following is not a component of Social Forestry ?
(1) Farm Forestry (2) Mixed Forestry
(83) Agro Forestry (4) Shelter Belts
113. 1 FEEHRIY TeodTeA deatell @I,
1 T/ (2) el 3) g™ 4) foenfen
fish generally stays at the bottom of the tank.
(1) Rohu (2) Catla (8) Mrigal (4) Tilapia
114, NP A S A Uoeicied e ag AfEE oF 3ad Iffed
FOAE A TR,
(1) 63 (2 52 3 41 (4) 102
The potential of marine fish production per year in Maharashtra has been estimated
at __ lakh M.T.
(1) 63 (2) 52 (3) 41 (4) 10-2
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115. T NI WSS YA o R A d Fledl @A Sl
(1) dife @ & 3) ¥R (4) s
fish is a heavy feeder and feeds on small fishes and prawns.
(1) Bombay duck (2) Haid (3) Surmai (4) Bangada

116. TP Ff o™ A5 (RKVY) §F FTAM e, & .
(1) 2001 (2) 2003 (3) 2007 (4) 2005

Rashtriya Krishi Vikas Yojana was launched during .

(1) 2001 (2) 2003 (3) 2007 (4) 2005
117. foofd SeaEe FEel T WA o

1 1 (2) 5 3) 10 (4) 25

Marginal farmer has land holding upto , ha.

1 1 (2) 5 (3) 10 4) 25
118. 72 S Fel FufEIS WeR #0Ad A,

1 1-2 (2) 3-5 3) 6-7 (4) 10-12

Medium term loan is sanctioned for years.

1 1-2 (2) 3-5 3) 6-7 (4) 10-12

119. HE ST e SR v Seiede Hvd IuE ANed 2
(1) WEr YR enfer wie S (2) T ISR YA MY
(3) WA Siel R wo (4) TN HRE TG
Which of the following measures is taken for obtaining higher prices in the market ?
(1) Grading and good packing of produce (2) To search good market
(3) Good packing of produce (4) None of the above

120. TTHAAYFHY IcEH ISR Gt & w@i fhdt g wfaffra e s ?
(1) 20TFh (2) 30 TF* (3) 50 TFH (4) 60 TFH

While formulating marketing committee, how much percent representation is given
to farmers/agricultural producers ?

(1) 20% (2) 30% (3) 50% (4) 60%
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121. SR 9 Webrg Yuw. 3w guq fave @i 2008 9 faoidt 3Tt ?

1) =9 faeay (2 W faer
(3) QU Tared (4) famr Ws
Who was the winner of U.S. Open (Tennis) Women Singles Championship of 2008 ?
(1) Venus Williams (2) Serena Williams
(3) Laura Robson (4) Lisa Raymond
122, ‘weber e s wdvgn qEedel Siver 39 A 2
(1) ¥ (2) AUB (3) WiHwE (4) SRTERY
Which of the following countries first presented the proposal for the formation of
SAARC ?
(1) India (2) Nepal (3) Pakistan (4) Bangladesh
123. TSORS TSHAG g HU Qe Heiftd ofRa ?
(1) S 2 @@ (3) TS (4) TH
With which game is Bhausaheb Padsalgikar associated ?
(1) Wrestling (2) Kho Kho (3) Chess (4) Hockey
124, YR ol ause foamae ema ?
(1 12 (2) 15
3) 18 (4) TIH FORE A
How many International Airports are there in India ?
1) 12 (2) 15
3) 18 (4) None of these
125. 77 feasft ‘ordw A qren Sl
(1) 16 9™ (2) 16 T (3) 167W (4) 16 5[
‘Handicapped Day’ is observed on .
(1) 16" March (2) 16 April 3) 16" May 4) 16™ June

126, TII~AT ‘qord Sa-er fae Hdied =AEedm SHive @eead Sfaufed e ?
1) MeETY G (2) HyEAEl T @l
(3) Tt foew @eem (4) —IATYS WHG e
The Supreme Court of India enunciated the doctrine of ‘Basic Structure’ of the
Constitution in which judgement ?
(1) Golaknath Case (2) Keshavananda Bharati Case
(3) Minerva Mills Case (4) Judges Transfer Case
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127. Yo foo aE® o1 (WEE d@s U AR ?

(1) W = (2) <F 3T

(3) #Y feva (4) fefeg AR
Who is the author of ‘Romancing with Life’ ?

(1) Shashi Tharoor (2) Dev Anand
(3) Madhu Kishwar (4) Dilip Kumar

128.@2909@WWWWWWWWWW?

(1) UAEw (2) THUHS 3) IS (4) vEEH

How many women candidates got elected in the Lok Sabha general election held in

2009 ?

(1) Seventy Five (2) Fifty Nine (3) Sixty Three (4) Fifty Five
129. FEISA W@ 23 I 2003 W (A AT ISR Ifea - 2020 R IRAE

ST WA e ol Tl GEuas I TARX el

(1) e W sEw (2) Ef. VR ORI

(3) #f UHYER e (4) Ht 9. fadam

Planning Commission released India Vision — 2020 on 23 January 2003, presenting
pre-assessment of progress of Indian Economy for the next two decades. This document
was prepared by .

(1) Dr. Narendra Jadhav (2) Dr. Bhalchandra Munagekar

(3) Shri Shamprasad Gupta (4) Shri P. Chidambaram

130. WM TATAC GHARUE @ I IOl HiuMgeRiGR sfad Fuam e 2
(1) 447 (2) 414t (3) 764t (4) 4241
By which amendment has the word ‘Secular’ been included in the Preamble of the
Constitution ?
1) 44th 2) 41 (3) 76t @) 42™

131. AW U STUEEEN AT HF S 26 & 2009 T FHEfGT w2
(1) IHETA.wH, fasiad (2) IETATH. ARG
(3) foa (4)

What is the name of India’s first Nuclear Submarine, which was launched on
26" July 2009 ?

(1) INS VIKRANT (2) INS ARIHANT
(3) Queen Mary (4) BrahMos
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132.

30 - A
F9 2009 @ @G, favd 20 : 20 GFA HUTT G AT A 2

(1) SReFuT SHifsheRT (2) WRd

(3) Fe (4) % e

In which country was the ICC World Twenty : 20 Cricket Tournament for 2009
held ?

(1) South Africa (2) India

(3) England (4) West Indies

133.

134

AT | WS g = Ten fasfad daem ‘O 3 wE guer 9
qid ® ?

1 T 2) Rz (3) Afmty (4) A=

A Bangalore based group of seven professors and engineers have developed “simple

and in-expensive mobile computer”. What is its name ?
(1) Param (2) Simputer (3) Macintosh (4) Zenon

. §1 2009 T4a Tt Tsa/hEuiea S FEUT AT 29 W9 Hd AR 2

(1) 30 (2) 32 (3) 34 (4) 35

How many States/Union Territories have achieved the goal of leprosy elimination upto
the year 2009 ?

(1) 30 (2) 32 (3) 34 (4) 35
135. 2009 9 TENE YT [ TACIH RO FiE HeBer ?

(1) 3% fam (2) garEm

(3) e (4) SR HTB

‘Maharashtra Bhushan’ Award for 2009 was given to

(1) Upendra Limaye (2) Sulochana

(3) Sandhya (4) Asha Kale
136. AR meNY fquraen feadt R ?

(1) 1040t (2) 118 (3) o (4) 128

The present Vidhan Sabha (Legislative Assembly) of Maharashtra is the

1) 10t 2 11t (3) ot () 12t
137. it IUF T ARG d 3T 3TTRA.

(1) 453 2) 409 (3) 429 (4) 443

Mr. Barack Obama is the A President of U.S.A.

1) a5t 2 40'h (3) 42nd 4) 44'h
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138. S Hald ST Hed IcaeiA HOTK Ufeedn  Go=a ATl TPl
(1) o9 9 9% (2) 94 7 MRS (LTE.T)
(3) W § AT fHew (4) SUH g 94

Name the pair of countries which are the first and second most polluters regarding
carbon emission.

(1) China and India (2) China and U.S.A.

(3) France and U.K. (4) Japan and China
139. Uohol 3YSAMUN B Wielordd! HIver Tel Tweiftd g ?

1) fafaada (2) 2ue 2 3) IEESB (4) Teffeq

Mr. Pankaj Advani is related to the game of .

(1) Billiards (2) Table Tennis (3) Chess (4) Badminton
140, ABAFE feesh U THHRET TEEBR (2009) FT 04T A7l

(1) 3o 9l (2) VW T

(3) . I 4) fifea arme

Lokmanya Tilak Award for National Journalism (2009) was given to

(1) Arun Shourie (2) Shekhar Gupta

(3) N. Ram (4) Nikhil Wagale

141. AT AFHA 9 FAGR A TEF JOEER Gk FOM AT s Sbiae

Ford ?
(1) ¥Cd &R (2) TEE qIER
(3) WAE g (4) 3 fiom

Name the famous drama personality who introduced folk art forms and artists from
Chhattisgarh to the National Stage.

(1) Badal Sarkar (2) Habib Tanvir
(3) Satyadeo Dube (4) Shambhu Mitra

142. 2009 } 911 TH FHAS Fh 2009 THYAET BUH TR & A, g g feer
(1) W IS = (2) e Sifed
(3) 3ifiegy wiHaA (4) AdfaE aE

The year 2009 was observed as 200" birth anniversary of a world famous personality.
Choose the correct option.

(1) Sir Isaac Newton (2) Charles Darwin
(3) Oliver Cromwell (4) Napoleon Bonaparte
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143, JHTHI THFWH FHAT 2009 & WEITEN o GRS 39 a9 wrEgeta Hew.
d ey Gl 9 ATRE. A g fee.
(D ITEE - E9d @) I& - A
3) W - & (4) e - @
Venkatraman Ramkrishnan shared the Nobel Prize for Chemistry (2009) with two
other scientists. They are from . Choose the correct pair.
(1) U.S.A. — Israel (2) U.K. - Germany
(3) France — Spain (4) Sweden — Italy
144, TEE A0 ISR 0 FEQ S A e ?
(1) TgEr 2006 (2) A 2007 (3) T 2008 (4) TBET 2005
When did the National Rural Employment Guarantee Act come into force ?
(1) February 2006 (2) March 2007 (3) April 2008 (4) February 2005
145, RAIY ARaeear Ufged Afgel STeel SVl e ?
(1) dmdt da FAR (2) s gva @S
(3) swmd w1 = (4) & feren fofea
Who became the first woman Speaker of the Lok Sabha of India ?
(1) Smt. Meira Kumar (2) Smt. Sushma Swaraj
(3) Smt. Prabha Rao (4) Smt. Sheila Dixit
146, WA e, fRR e e I Wﬂﬂm‘cﬁ T M WaId FR el ?
(1) FUEE (2) Fod (3) (4) W
With which country did India sign a deal to revive ammunltlon production in Nalanda,
Bihar ?
(1) USA. (2) Kuwait (3) Israel (4) Russia
147. T5%1 (FIFA) T e wwEi IR,
(1) T (2) wfed T
(3) TS (4) HS Hel
FIFA is related to the field of .
(1) Banking (2) Information Technology
(3) Sports (4) Social Service
148, T 2008 e URA T EEHTA HIVTH G HOAE I 2
(1 9 T g (2) 4. fomET sen
(3) IEE R g () uhA JgER
Who was honoured with ‘Bharat Ratna’ Award in 2008 ?
(1) Pt. Ravi Shankar (2) Pt. Bhimsen Joshi
(3) Ustad Zakir Hussain (4) Sachin Tendulkar

el BHETS! TR / SPACE FOR ROUGH WORK
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149. T 2009 HA 1891 MaWEE ARG g da9met A HIVC Wed FGUA el ?

1) FIE 2 3) iz (4) HITHE
Where was the 18% International Engineering and Technology Fair held in 2009 ?
(1) Bengaluru (2) Pune (3) Trivandrum (4) Kolkata

150, HIUTA §9AT WA T — 2009 HIN1 FHGURIE AR TeReien grfiar I RuA it

I ?

(1) <mifas IRTE G (2) ATWET IRTF FoeT

(3) W Fufea ofeg (4) TF-3mfT g goe

Which organization has declared Swine Flu —2009 HIN1 Influenza — as a global
pandemic ? :

(1) World Health Organization (2) International Health Organization

(3) Medical Council of India (4) Pan American Health Organization

151. Udhl Hiohfaes w™d 573 =1 314 ‘bring cold water’ 3791 ﬁ?‘ﬁ 342 =1 319 ‘water is good’
g g g ‘bright good boy’ IEEI 126 37T Y&hd aRdd T, ‘boy is bright’ T3l
Telerdat Hvd Gohd A ? |
(1) 671 (2) 475 (3) 641 (4) 376
In coding language 573 means ‘bring cold water’, 342 means ‘water is good’ and 126
means ‘bright good boy’, then which number will be used for ‘boy is bright’ ?

(1) 671 (2) 475 (3) 641 (4) 376

152, Y9 fagrea (?) SMEt s wdig o

8:32:12:7
(1) 44 (2) 58 3) 72 4 71
Select correct option for 7’

8:32:12:7
1) 44 (2) 58 3) 72 4) 71

153. SR PUBLIC fafgaiqar DLIGUYG 3¥ fafgd 31§ T SERVICE ¥ fag ?
(1) SERVICE (2) ECIVRES (3) ADIVAHZ (4) 2dAVIOH

If PUBLIC is written as OLI8U9 then SERVICE is written as
(1) SERVICE (2) ECIVRES (3) MHOIvdAde (4) 24aVIOH

el PMINTS! ST / SPACE FOR ROUGH WORK
P.T.O.
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154. SR CAT = 24, DOG = 26, @ ‘HORSE’ €3 Hlvrar 3fs s/&a ?
(1) 56 (2) 65 3) 64 (4) 66
If CAT = 24, DOG = 26, then which number will be indicated by ‘HORSE’ ?
(1) b6 (2) 65 (3) 64 (4) 66
155. UH Gikfas “™d ‘BRIGHTER’ & ¥ ‘CSKHIUGS' 31 fadiel & ‘FIGHTER' @ &%
&4 foRmEn ?
(1) GKHIUGS (2) GJHIUFS (3) GJKHUIG (4) GJHIUFK
In coding language ‘BRIGHTER’ is written as ‘CSKHIUGS’, then how will the word
‘FIGHTER’ be written ?
(1) GKHIUGS (2) GJHIUFS (3) GJKHUIG (4) GJHIUFK
156. GIAe Hhaml 3 %8 ‘CONCEPT €18 HIUid Hha Jdiel o | 2
A B D E ..
A * o B %)
1) apBodaa 2 adBpadITA
B) adJafpa 4) aodPBaTAD
By observing the following codes, find out which code will be used for the word
‘CONCEPT’ ?
A B E..
A * o B %)
1) aopdadAa 2) a@Pad A
B) adJuaBPa 4) a@BadAd
157. 991 AV 3, §, &F, T, T MU § & UH TG W R & SNV € g aaes 3T

<A AN SR, ¥ §T I AT W I AR, 37 g F UG AT 3R, T WeoA bl
HT 3W IRA ?

(1) 3w (2) F3uUe

3) & T 4) E FRE T

Six persons A, B, C, D, E and F are standing in a row. C and D are standing close
to each other alongside E. B is standing besides A only. A is fourth from F. Who is
standing on the extremes ?
(1) Aand F
(3) BandF

B and D
None of the above .

(2)
4)

el SIS ST / SPACE FOR ROUGH WORK
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158. CId J@a Ul &7 :

1O 8 _ 3k T
8 ? @) ﬂ7 @) 88 W M

Complete the following series :

L O 8 86T
8 EE @) ﬂ7 ®) 88 @ M_

159. Tadear Fda = g R ?

(1) 16 - (2) 14 3) 15 (4) 13

How many rectangles are contained in the adjacent figure ?

(1) 16 (2) 14 (3) 15 (4) 13

B BTG ST / SPACE FOR ROUGH WORK
P.T.O.



160. 397 37hdl :
/\ ) e
I ATHT
O DO Dy

(1) (2) (3) (4)

Question Figure :

/\ ()9

Answer Figure :

N D>\

(1) (2) (3) (4)

161. T ‘o famgre awﬁ FHIUTAT 3 AgA 2

XX

(1) 30 (2) 33 (3) 36

Which number will be appear at ‘® ?

12
27/ 18 \ 15
e 21

30 24
24\ 97 /18

\%}/ﬁ

(1) 30 (2) 33 3) 36

(4) 26

(4) 26

T PHENITS! 3T / SPACE FOR ROUGH WORK
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162. B S@e [ FT :
SM,T,W,__,FS.
(1) A (2) T 3 S 4) E
Complete the following series :
SSM,T,W,____ ,F S.
1 A (2 T 3) S 4) E

W99 . 163 9 166 WET :

el fecedn Hohdre T S, EE FeRee Tk Fieas 9 qEErE Haer
A B C D E

O A O # %
For Questions No. 163 to 166 :

Obeserve the following code carefully and select the proper option of code for given
word :

A B C D E
O A 0O # %

163. MUTINY = ?

1) OOk ##% @2 [L&xO#AO

@) HO¥* % # 4 OXxO#A[]
164. TABLE =?

1) A#E*AO 2 *0OA A%

@) O##A % @ OOADO%
165. AUTOCAD = ? |

1 OO0U*.U# 2 O4%A0OU#0O

@ HExA#LO % 4) OO0k %[LO#
166. CLOTH =7?

1) OA#%A @ OAO%* #

@ OA**] @ OO% %O

Pl BHNITS! TR / SPACE FOR ROUGH WORK
P.T.O.
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167.

38

S WATCHING = 30, WORKING = 30, COMING = 10, COACHING = 10, ™
MAKING = ?

(1) 20 (2) 30 (3) 10 (4) 32

If WATCHING = 30, WORKING = 30, COMING = 10, COACHING = 10, then
MAKING = ?

(1) 20 (2) 30 (3) 10 (4) 32

168.

STSG=12, JK=-1 9 QE=12, W OX=7?

(1 9 (2) -9 (3) 8 4) -8
If SG=12, JK=-1 and QE =12, then OX =7?
(1) 9 (2) -9 (3) 8 (4) -8

169.

ST B =10, AC =20, BED =55, T PPF =7

(1) 180 (2) 190 (3) 196 (4) 550
If B=10, AC =20, BED =55, then PPF =7
(1) 180 (2) 190 (3) 196 (4) 550

170.

S STATEMENT = 384857, CEMENT = 157, GARMENT = 2467, d{ 8647 = ?

(1) STARMENT (2) TRAMENT

(3) TREATMENT (4) TRAEMENT

If STATEMENT = 384857, CEMENT = 157, GARMENT = 2467, then 8647 = ?
(1) STARMENT (2) TRAMENT

(3) TREATMENT (4) TRAEMENT

171.

SR ‘MUMBAT & g ‘KCDOWO’ 3T faidlar @ ‘SURAT & Vg &dm foigrar ?

(1) UBSVT (2) UWTCV (3) VCTWU (4) TVSBU
If ‘MUMBAT is written as ‘'KCDOWOQ’, then how will you write ‘SURAT ?
(1) UBSVT (2) UWTCV (3) VCTWU (4) TVSBU

172.

ST A=1,B=2C=3,.. & WU, @ ‘GOODWILL & ¥ H&1 fagmar ?

(1) 7-15-15-4-23-9-12-12 2 7-15-15-23-4-9-12-12
3 7-15-4-15-9-12-12-4 4 7-15-15-4-23-12-9-12
If A=1, B=2, C =3, ... in this order, how will you write ‘GOODWILL' ?
(1) 7-15-15-4-23-9-12-12 (2) 7-15-15-23-4-9-12-12
3 7-15-4-15-9-12-12-4 4) 7-15-15-4-23-12-9-12

T SHNS! ST / SPACE FOR ROUGH WORK



A - 39 KNM

173. Geliel 3R AfcThd HIE 3R TMSeA e, Meselel T A H- ORI vty fawe.
ZXP_XZ_XPPXZZX_PX_
(1) ZprZpP (2) PZPX (3) PZPZ (4) PZZP
Some letters are missing in a series. Select proper letters from the following options.
ZXP_XZ7Z_XPPXZZX_PX_
(1) ZprZpP (2) PZPX (3) PZPZ (4) PZZP

174. TS SiHAITRT D 3 Meald 3R MBAel 3% ATIHAN SO g fraer,
_101_1011__11101 |
(1) 1011 (2) 1111 (3) 1010 (4) 1110
Complete the given series of numbers by choosing the correct alternative.
_101_1011__11101
(1) 1011 (2) 1111 (3) 1010 (4) 1110

175.ﬂmﬁéﬁ?ﬁwﬁmwﬁﬁaa
OA_¥*LO_AA0%000A AN _

1 AO%kUO @2 A00Od 3 AANkT 4 4A00

Select symbols from the given options to complete the series.

OA_*U_AA%0UO0OAAN_ _

0 AO%O @ AOOO @ AAk0O @ %AOO

176. TN sidfchd FE 3fF Meod ed. Mead 3fd I FHAW T w3 faer.
__989_9_98_898
(1) 98889 (2) 88998 (3) 98989 (4) 89898
Complete the given series of numbers by choosing the correct alternative.
_ _989_9 98_898
(1) 98889 (2) 88998 (3) 98989 (4) 89898
AT SIS 3R / SPACE FOR ROUGH WORK '
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177. a9 T 3ieaE.

(1) ZBX (2) XDV (3) VET (4) THR

Find the odd one out.

(1) ZBX (2) XDV (8) VET (4) THR
178. g8 ewwe 3w

(1) BEH (2) HEKN (3 TWN (4) SPM

Find the odd one out.

(1) BEH (2) HEKN (3) TWN (4) SPM

179.

= e, foud, O
U9 X, 99 Y 9 99 Z ¢ 3FY Qorg, famdf 3 acEe 99 g9 o
R worg B famdf s 9 F@ foaadl aE avEw.

& ©® §

1 @ = 3) & @ s

Set : Players, Students, Musicians

Set X, Set Y and Set Z are three sets of Players, Students and Musicians respectively.
Some Players are Students and some Students are Musicians.

& ©® 8 G0

Select the proper Venn-diagram for the given set.
(1) A (2) B 3) C 4) D

T BHRIS! ST / SPACE FOR ROUGH WORK
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180, RF-37gxa frlierr seA I fomr

g9 dHd9 da=®
TS qIeh
32 35 28

e TFdlaed e AR § WS, e vl faendf Ry ?

KNM

1) 42 (2) 28 3) 07 (4) 60
Observe the Venn-diagram and answer :
Set A SetB Set C
° é
How many students are players and musicians ?
(1) 42 (2) 28 3) 07 (4) 60
181. RF-3MFd fleor &&4 IR foar -
H9A = qey
ﬂ' 9B = Frrfed
U9 C = gHIH
TFUT QNG R qE¥ gEUH FOR R 2
(1) 20 (2) 1 (3) 05 (4) 28
Observe the Venn-diagram and answer :
Set A = Men
A' Set B = Married men
Set C = Smokers
How many men are smokers out of total men ?
(1) 20 (2) 11 (3) 05

(4) 28

P4l BTSN / SPACE FOR ROUGH WORK

P.T.O.



KNM

42 A

182. WA IREINE HIUICAT RA-IFANT 3, 9, &, T Haldd 3R F SN 9 N Sepella Hichfereh
MR Mfaur Irg waty faer ?
VT ~ i, B, g
1 (2) « @) = 4) ¥
The list of words given can be denoted by which Venn-diagram i.e. A, B, C, D ?
Words — Cabbage, Methi, Vegetable

A B C D

(1) A (2) B @) C 4) D

183. eI 6:00 AT HATEAT 90 a9 G A ST A= fieida fasaiqe e
3T T BT, SR, FACHE e FAvER [EW oA R AR A€ @i e g ?
(1) W (2) o 3 ¢ (4) U¥=m
In the evening at 6 o’clock when I was in the library the sunlight was coming from
my left side window. If the main door of the library is on the East, then which side
am I facing ?
(1) North (2) South (3) East (4) West

184, TH HHIT 3TE0T UH WA XM &2 9 fied aad Aef-aevl $dds 12 e e

AR ?
1) 21 2) 18 (3) 24 (4) 20

In a ground Arun walked from a pole 9 meters towards north-east and Tarun walked
12 meters towards south-west. But Tarun came back 2 meters and Arun came back
one meter. How many meters are they away from each other ?

1 21 (2) 18 (3) 24 4) 20

P HHNTS! SN / SPACE FOR ROUGH WORK
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WY . 185 q 186 Wil
Yo Fifraedr YA fagrar age %4 37g% 7T o

For Questions No 185 to 186.

As per the given question change the signs and select the proper option.
185, S WUN “+, % WUR 4, 4’ Uasil &, + Uasi) & fog aoefl @
20-4+3x7+29 IW &G AT ?
(1) 42 (2) 3b 3) 15 (4) 20
If “’ means ‘=, ‘<’ means ‘+’, put ‘%’ in the place of ‘+’, put ‘=~ at . By using these

signs, what is the answer of 20 -4 + 3 x 7+ 2 ?

1) 42 2) 35 3) 15 4) 20
186. R MG BN ), 1A BN <, IS BN & F q9EH WS 4 W G T
IW FE ?
4x2+3-4+1-3
1 4 2) 12 3) 36 (4) 18

) [

If division means ‘~, multiplication means ‘+’, addition means ‘x’ and subtraction
means ‘+’, then what is the answer of
4x2+3-4+1-3

1) 4 (2) 12 (3) 36 (4) 18

GO : WY th, 187 A 191 W IW WGl Wilgl a1 o,
T Wil e famretar wuel, s, g @ i) @ fawatn fee emen R
A,Ba DR Tog 9 s @ fawaa Sl 3.
B,Ed C? et 9 W3l &1 fawand 3ol emed.
D,Cd E? &< 9 7udl fowara Seivl emga.
A, DT ER ST 9 gt a1 fowama 3ol e7Ra.
Information : For question No. 187 to 191.

In a school the result of five students was declared for the subjects Marathi, English,
Maths and Hindi.

A, B and D passed in Maths and English.
B, E and C passed in English and Marathi.
D, C and E passed in Hindi and Marathi.
A, D and E passed in English and Hindi.

Hod]l BENIS! STRN / SPACE FOR ROUGH WORK
P.T.O.
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187. Grelerdst @i goeft fawara Sl e 2
(1) %W B,E,C (2) @ A,D,C
(3) Wk AF D (4) FESOT
Who have been passed in English ?
(1) Onmnly B,E, C (2) OnlyA,D,C
(3) OnlyAandD (4) Al
188, 7T Ivi fereell v e Sl Rd 2
(1) A/B,C (2) B,C,D 3) AB,D 4) AEC
Who have been passed in Maths ?
(1) AB,C (2) B,CD 3) A/B,D 4) AJE, C
189. Wd fawara v Il s e 2
(1) D (2) B 3 A @ C
Who has been passed in all subjects ?
(1) D (2) B (3 A 4) C
190. wE v W fea srgeel @ SR ?
(1) D (2) B 3) C 4) A
Who has been passed in Marathi, but failed in Hindi ?
1) D (2) B 3) C (4) A
191. C 9 E 9§ Foren fawam ool o 2
O &= (2) W (3) T 4) s
C and E both have failed in which subject ?
(1) Hindi (2) Marathi (3) Maths (4) English

192,

TRYH 99 T 9UTAT FHTE TR, 5 auH WY 99 ] SEIeiA] qehe Sarae
95 it ST 3. AT el 3N 99 55 a¥ 79d X ARy N a9 fodt ?
1) 45 =9 2) 30 I8 (3) 25 79 (4) 15 4

Todays Mahesh’s age is half the age of Sarang. After five years Sarang’s age will be
25 years less than his father. If Sarang’s father’s age is 55 years as on today, then
what is the current age of Mahesh ?

(1) 45 years (2) 30 years (3) 25 years (4) 15 years

Sl SIS S / SPACE FOR ROUGH WORK
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193. WY TS Fe4F TEIE 4§ I8 W, WA Fehled! 11:00 SISl SR LA T

T AT WE 11.00 ISAT HUAT 93 TE@ad 2
11:02

(1) 11:08

11:30

(4) 11:48

Sachin’s clock goes ahead 4 seconds in every hour. Monday morning at 11:00 a.m. the
clock is set at the proper time. Now what will be the time shown on Saturday morning

at 11:00 a.m. ?
(1) 11:.08

11:02

11:30

(4) 11:48

194.

T HHR AU M ST

T HFT

X

(1

(2)

Find out the next figure.

Question Figures :

(4)

4+

Answer Figures :

4+

(1)

(2)

(3)

(4)

oAl SIS STR / SPACE FOR ROUGH WORK

P.T.O.
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195. 1 SMER 2010 A (AR fGEW S @ 31 SHaW 2012 & Ao faw Aa ?

(1) 9maR (2) HieEaR (3) FHIR (4) TEER

On 1%J anuary 2010 the day was Friday. Then what will be the day on 315t g anuary
2012 ? ‘ ,

(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

196. T TR fGETa waig e
(3) gHmEEHl (%) AqW (@) IR () U
1n A 2 4 ' 3 = 4) €
Find the odd man from the group.
(A) Mobile (B) Internet  (C) Telephone (D) Computer
(1) A (2) B 3 C (4) D

197. 1500 =1 gan éﬁﬁﬁ ?
(1) 250 (2) 260 (3) 500 (4) 550

How much is —;— ofg of 1500 ?
(1) 250 (2) 260 3) 500 (4) 550

gorl ; Teeiear STerETT SaR YA s, 198, 199 IMUT 200 TAT WAL IWT @I
(3, 9, & Ricgrel Wie TSAT WIH 3R)

at | =] Sferm
- = 2
. g=
S L4 et )
E ) 7 // 7z
1 ZQ\;}} Z".‘L}} Z[: ‘:‘:"j
o q % &

i

Ho1 BHNTS! S / SPACE FOR ROUGH WORK



47 KNM

Directions : Give the answer of the Questions No. 198, 199 and 200 from below

graph.
(Population of the A, B and C district is same)
Y4 Open Telephone
« 7 Z Closed Telephone
5 1 1T
g ‘:.:;.E Waiting List
'-g — P S
3
& |
A -
7z 7 e
T éu‘}a Zm é
0 ZN Zi ZR R
A B C X
District
198. Tald FEAYH rFcien foegr womr ?
1 2 9 3) % (4) GT A9 TR
Which is the most working district ?
1) A (2) B 3) C (4) Don’t know
199. e ‘&7 9 g T wed Aqfgda o= fawe Yoo S ?

1) ‘& Ricearde =] fawea sHr T Segarear gue IR,

2 ‘o g 91 foawqa o T fSeearen e o1,

3) I fcgaria =] fadia ergu=r Sfmiae S| §9F 3R,

@) ‘o ficeawia = fawa o T fegarde fawTen dq R S TR,

What is the proportion of telephones in working condition in district ‘A’ and ‘B’

proportionately ?

(1) Double telephones in district ‘A’ in working condition as compared to district ‘B’
proportionately.

(2) Half telephones in district ‘A’ in working condition as compared to district ‘B’.

(3) Equal number of telephones in working condition in both districts.

(4) Three times telephones in district ‘A’ in working condition as compared to
district ‘B’.

200.

T fSegara Sdten Aide Sfamiaer den S R 2

1 = 2 3) & (4) ¥ mfor g
In which district is number of telephones on waiting list highest ?

1 A (2) B 3 C (4) Aand B

T BHNTS! SR / SPACE FOR ROUGH WORK
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LT - (g5 1 &9 g@....)

8) WA fafeq Foew fafe Srie #=2 &@ (W 96) &, TEAgRsiiREd
IR a1 S FHIEE Hed HH Foard o SO U] ILIME el 38, 30 AEA
SEE § ER IACANER YEAH S Soled “wlwiHed gom=n Ao yfasy
FOIEEAY AUEE-82” A WIGTIR FRAE HAM ASA 9 N Aol FATA Tk
oA HRETE Y/ fhaT F9Y TF g9 U ST YR U 'ge

(9) W SRAIHHE! IR fafgd Fae a8 TUeaHal SHGARIE § STAYfedeh @ aer
‘ THRTHETERY U3 S0 W 312, W el ST JAUagd! SHear™ et
IAULIHET WAT-1 AHAghhe 7 a0 Wa FI0 AEyas e,

AT WRH
T . 201. WAl 9 Y FOGEE R0 qAT T Hd 7
(1) W TFEE T (2) IYER fouErR
(3) T UvHIEA U4 4) TMISFHOT MEe

TR A IR Y(3) T TART T I IR, WS A AN IW “3)

e, AT e 1%, 201 Fia sw-Fs <@ 3 adw it owitk 3w
TE SETTF IR,

v%.200. O @ @ @

. I UFAN. T AR TAE FYAE Al SUGRAI®R 81 greTel Seede
RiAedT STUHale @ 1 TYAHHEEENT dafdd ae OiY0) Sifed %4 SREamE.
TTHIAT e Hledl JIEY |G aIudrd, Ufgel af ymga U9 aue 74,

Pl HHEO! SN / SPACE FOR ROUGH WORK




